
  

 

�⃗� = 𝑚𝑣 
= (275)(20) 

= 5500 kg m 𝑠−1     

=    أو 5500 𝑁 𝑠 

 

 
 

 

�⃗�  = �⃗�  

𝑚𝐴�⃗� 𝐴 + 𝑚𝐵�⃗� 𝐵 = (𝑚𝐴 + 𝑚𝐵)𝑣 

(1.5 × 2.5) + (5.0 × −3.0) = (1.5 + 3.0)�⃗⃗� 

𝑣 = −2.5 m 𝑠−1     
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�⃗� G − �⃗� H = 3 − (−12) = 15m 𝑠−1

𝑣 G − 𝑣 H = 6 − (−9) = 15m 𝑠−1

 

 

 

𝐹 =
∆�⃗� 

∆𝑡
=

𝑚∆𝑣 

∆𝑡

=
0.15 × −100

0.3
=-50 N

 

 

 

)كمية التحرك محفوظة(
𝐹 = −𝐹   

∆�⃗� = −∆�⃗�  

∆�⃗� + ∆�⃗�  = 0

 
 

∆�⃗� = −∆�⃗�  
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π

2

 

 
 

 

ω =
∆θ

∆𝑡
𝜔 أو  = 2𝜋𝑓 =

𝑛2𝜋

𝑡

=
(800)2𝜋

2 × 60

=
40

3
𝜋 𝑟𝑎𝑑 𝑠−1

= 41.888 𝑟𝑎𝑑 𝑠−1

 

 

 

 

𝜔 = 2𝜋𝑓  𝜔 =
2𝜋

𝑇
=

2𝜋

0.75
= 2.667𝜋 𝑟𝑎𝑑 𝑠−1

= 8.378 𝑟𝑎𝑑 𝑠−1

𝐹 = 𝑚𝜔2𝑟

               

= (0.6)(8.378)2(0.9)

                     = 37.90 𝑁
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𝑎 = 𝜔2𝑟 =
𝑣2

𝑟
=

∆𝑠2

∆𝑡2 𝑟

=
(157)2

(8)2(50)

= 7.7 m 𝑠−2
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𝜔 = 2𝜋𝑓 = 2𝜋(3)

 =  6𝜋 𝑟𝑎𝑑 𝑠−1

 =  18.85  𝑟𝑎𝑑 𝑠−1

𝑥°  =
a°

𝜔2
= 142.5

/(18.85)2

= 0.4 m 

 
 

 

 

 

 

ω =
2𝜋

𝑇
=

2𝜋

1
= 6.283 𝑟𝑎𝑑 𝑠−1

𝑥° = 0.8𝑚

𝑣 = 𝜔𝑥° cos𝜔𝑡

= 2𝜋(0.8) cos(2𝜋𝑡)

= 1.6𝜋 cos(2𝜋𝑡)

𝑣 = 1.553 𝑚 𝑠−1

 

 

 

 

□ √π



 

6 
 

 
 
 

 

 

ω =
2π

𝑇
=

2π

2
= 𝜋 𝑟𝑎𝑑 𝑠−1

= 3.14 𝑟𝑎𝑑 𝑠−1

𝐾𝐸 = 𝐸° =
1

2
m𝜔2𝑥°

2    

𝐾𝐸 =
1

2
(32)(𝜋)2(1.5)2

= 355.31 𝐽

 
 

 

  

  

 

  

  


